C:# Division von ganzen Zahlen

Name:
L 0se jede Aufgabe. Antworten
1) 56:2= 2) 25:7=
1
2.
3.
3 314= 4) 960:8 = 4,
5.
6.
7.
5 60:2= 6) 792:6 =
8.
9.
10.
7) 32:5= 8) 765:9=
- - 11.
12.
9 812:8= 10) 663:6 =
11) 577:2= 12) 46:2=
1-10 | 9283 75|67 [58[50] 4233|2517 |
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=

Division von ganzen Zahlen

Name:

L dsungsschltissel

L 6se jede Aufgabe. Antworten
1) 2 = 2) -7 =
56:2 28 25.7 3rd . 28
2. 3r4
3. 7r3
3 314=_ 713 4) 960:8=_ 120 4 120
5, 30
6. 132
7. 6r2
5 60:2= 30 6) 792:6= 132
8 85
0. 101r4
10. 110r3
7 ‘5= 8 Q=
) 32:5 612 ) 765:9 " 28811
12, 23
9 812:8= 10114 10) 663:6= 11013
11) 577:2= 28811 12) 46:2= 23
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Mathe ] www.CommonCoreSheets.de 10 111121 8] 0




